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® Lessons 3-1to 3-4 Solve each inequality. Graph and check your solution.
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25. The booster club raised $102 in their car wash. They want to buy $18 soccer
balls for the soccer team. Write and solve an inequality to find how many
soccer balls they can buy.

26. You earn $7.50 per hour and need to ear $35. Write and solve an inequality to
find how many hours you must work.





Name:

Review3 154

© Lo 11934 Soecach gy, Grah 0 chck o soaton.
e 20420 agsr
e siseon P
prav Y ag=n
w2727 o= et
nyeacn aezss w5
ananis naoems e
Baerzmet Biercie wa-gos
mu-gaios B 2u<os amaens

25 The Bt o i 02 i car wsh Ty wat o oy S s
Rl o s e W s el 10 o vy

iy
BT A—
o o ey o v
Name:
Review 3134
1 Lens 11034 S ach gl Grophand chckyourelaion.
ey peyoeny foR
aners si-seon P
pras [Ye L
w2727 o= e
ey Paees Wi-wsa-d
neramnt PO s
nu-prios B 2uec0s P St

28 The b o i 02 i car wsh Ty wat o by S s
l o e socer e W nd v gty 0 0 o ey
et s oy can oy

DTSR ————
bt oy s o,



